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HTO Carry over 1 ten to the tens’ column and write O under
Q0 ones’ column. ﬂ
149 Step 2 : Add the tens. 4 tens + 7 tens + 1 ten (carry over)
2 7 1 = 12 tens = 1 hundred + 2 tens
+300 Carry over 1 hundred to the hundreds’ column ang
write 2 under tens’ column.
720 Step 3 : Add the hundreds. 1 hundred + 2 hundreds +
s 3 hundred + 1 hundred (carry over) = 7 hundreds
Write 7 under hundreds’ column. Ans. 720

- Exercise =

[\ Add the following.
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570 4 39 6 18 | 7 49 376
129 3 0 1 109 | 10 1 2 4 8
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HTO HTO HTO HTO HTO
508 469 245 | 170
317 199 259 | 259
+150 +2 99 +274 | +290
A5 a6 7 | | 10
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437;;'; 4 0 4 1409 416 | 0.2:61
204?{ 2 53 332 | 144 | 231,;
+030 +125 + 37 1 +012 | +146 |
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Addition of Three 3-digit Numbers
Add 149, 271 and 300.

Example

Step 1 :

Add the ones. 9 ones + 1 one = 10 ones =1 ten + 0 oneg,
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